
S. No. Question Option 1 Option 2 Option 3 Option 4

1 What is the test weight of Phalaris minor  seed (in grams) ? 4 6 2 8

2

Which one of the following gram varities has green colour of mature 

grains ? Aparna Aruna Arpan Abhar

3 High quality malt variety of barley is :- RD 2849 RD 2508 RD 2502 RD 2503

4 Sesamum Indicum has chromosome number :- 32 64 26 42

5 Maru Bahar is the variety of :- Urd Arhar Moong Moth

6 The most favourable light for the growth of crops is :- Red Infrared Blue Green

7 What is the meaning of Sod Seeding ? Minimum tillage Soil compaction Soil Puddling Zero tillage

8 Which one is not the variety of baby corn ? Golden Sangam Shakti PAC-792

9

Which crop has the capacity to fix most of CO2  in the form of organic acid 

in drought condition ? soyabean Gram Moong Urd

10 Calvin cycle occurs in :- Sudan grass Pearl millet Finger millet Cowpea

11 Which one of the following is different in its action ? Hydrated Lime Chalk Cycocel Kaoline

12 Which one of the following plant has minimum transpiration ratio ? Maize Sorghum Sugarcane Pineapple

13

Which one of the following elements does not act as an enzyme activator 

? Calcium Magnesium Iron Zinc

14 The tea yellow disease is caused by the deficiency of ? Sulphur Nitrogen Calcium Boron

15 What is the isolation distance of certified seed production in pearl millet ? 400 metre 200 metre 800 metre 100 metre

16

The most common plant harmone indole 3-acetic acid (IAA) was first 

isolated from ? Human urine Avena Coleoptile Fungus Fusarium Corn germ oil

17

Which one of the following herbicides inhibit the photosynthesis of the 

crop ? 2,4 - D Propanil Isoproturon Glyphosate

18 which district of Rajasthan is irrigated mainly by Bhakra Nangal dam ? Bikaner Hanumangarh Churu Ganganagar

19 Which district of Rajasthan cover maximum area by tubewell irrigation ? Alwar Bharatpur Jaipur Jodhpur

20

which one of he following mode of action of herbicides is different from 

other ? Hill reaction Inhibit protein synthesis Electron transfer CO₂ fixatioŶ

21 Allelopathic chemical left in the soil by the roots of :- Sunflower Sorghum Gram Maize

22 Which one of the following pairs is not correctly matched ?

Magnesium - Green veins in old 

leaves Iron - Green veins in new leaves

Copper - Yellow veins in new 

leaves

Manganese - Yellow 

veins in old leaves

23 Which one of the following pairs is correctly matched ? Upper Gangetic Plains - Bikaner Central Plateau and Hills - Churu

Transgangetic Plains - Sri 

Ganganagar

Southern Plateau and 

Hills - Alwar

24

What is the effect of nitrification on soil pH:- 

(1) Increases

 (2) Decreases Codes 1,2 and 3 Codes 1 and 3 Code 2 only Codes 1 and 2

25

Which of these orgamisms involved in denitrification process in soil is not 

a heterotroph ? Pseudomonas Bacillus Achromobacter Thiobacillus

26 Azorhizobium produces stem nodules on :- Sesbania rostrata Sesbania grandiflora Sesbania aculeata Sesbania quadrata

27

A healthy plant foliage contains approximately ____ as much sulpher as 

nitrogen :- 1/10 th 1/5
 th

1/2 
th

1/20 
th

28 In alkali soils, the form of phosphorus that predominates is :- Calcium phosphate Iron phosphate Aluminum phosphate Nitro phosphate

29 The salt index of urea is :- 1.61 per unit of N 2.99 per unit of N 3.25 per unit of N 6.00 per unit of N

30

Which of the following satellites is the example of those orbiting in 

equatorial plane of the earth ? SARAL RISAT -1 KALPANA -1 IRS -1A
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31 Wave lenght of visible radiation ranges between :- 0.15 to 4.0 µ 4.0 to 6.5 µ 6.5 to 9.5 µ 9.5 to 14.5 µ

32

The ratio of standard deviation to mean expressed in percentage is 

termed as :- Standard error Critical difference Coefficient of variation Mean deviation

33

Which of these is a correct pair of International system of units and 

centimeter-gram-second unit relationship with reference to solar 

radiation ?

697.93 watt/m² = 1 

calory/cm²/min.

797.93 watt/m² = 1 

calory/cm²/min.

897.93 watt/m² = 1 

calory/cm²/min.

997.93 watt/m² = 1 

calory/cm²/min.

34

The analysis component of precision agriculture which provides data 

storage, retrieval and transformation to spatial data is :- Global Information System (GIS) Global Positioning System (GPS)

Decision Support System 

(DSS)

Variable Rate Technology 

(VRT)

35 The part of radiation utilized by plants in respiration is called :- Metabolic heat Latent heat Sensible heat Soil heat flux

36

The expression PET = KET฀ for the estimation of potential 

evapotranspiration from free water evaporation was given by :- Penman (1948) Blaney riddle (1950) Jensen and Haize (1963) Thornthwaite (1948)

37 The medium irrigation projects have cultivable command area of :- 2000-10,000 ha 10,000-15,000 ha 15,000-20,000 ha 20,000-25,000 ha

38

Find out the depth of irrigation water if one hectare area is irrigated with 

an average discharge of 25 liters per second for 6 hours :- 5.4 cm 6.2 cm 6.8 cm 7.2 cm

39

The loss of water on way between source and point of utilization for 

irrigation is denoted by :- Water application efficiency Water distribution efficiency Water storage efficiency

Water conveyance 

efficiency

40 The mycoherbicide 'De-vine' contains fungal spores of :- Colletotrichum gloesporiodes Phytopthora palmivora Streptomycus hygroscopicus Bipolaris sorghicola

41 Oxyfluorfen belongs to the herbicide family ? Imidazolinones Substituted aromatic acids Substituted ureas Diphenyl ethers

42 Which of these herbicides produces H2O2 in plants ? Paraquat Metsulfuron Glyphosate Imazethapyr

43

A weed that has become an integral part of a crop ecosystem is termed 

as :- Facultative weed Obligate Weed Satellite weed Alien weed

44 Which species of Orobanche  has branched stem :- O. ramosa O. aegyptica O. crenata O. minor

45 The seed rate (kg/ha) of taramira pure crop is about :- 2 5 8 10

46 The optimum temperature for germination of wheat seeds is about :- 12-16° C 20-22° C 25-28° C 10-12° C

47 Zea mays  indurata is :- Flint Maize Dent maize Sweet maize Pop corn

48 In reference to cotton crop, a "count" is :-

No. of hanks of 761 m each 

weighing 0.453 kg

No. of hanks of 840 m each 

weighing 1.00 kg

No. of hanks of 900 m each 

weighing 0.50 kg

No. of hanks of 1000 m 

each weighing 1.20 kg

49

Which one of the following varieties of sugarcane is not sutable for 

ratooning ? Co-997 Co-1007 Co-8145 Co-419

50 Kodo millet is :- Setaria italica Panicum miliaceum Paspalum scrobiculatum Echinochloa frumentacea

51

Which of the following varieties of groundnut has spreading growth habit 

? JL-24 Pratap mungfali - 1 GG - 2 M - 13

52

Calculate the sodium adsorption ratio of a soil, if soil analysis revealed 

that satuƌated extƌact coŶtaiŶed ϮϬ, ϭϬ aŶd ϭϬϬ ŵeƋ/liteƌ of Ca⁺²
 , Mg⁺²  

aŶd Na⁺¹
 
, respectively :- 34.8 31.8 28.8 25.8

53

The result of soil moisture stress due to imbalance between available soil 

moisture and evoporation of a crop is :- Agricultural drought Meteorological drought Atmospheric drought Hydrological drought

54 Geographically, which is the largest agroclimatic zone of Rajasthan ? Arid western plain

Hyper arid partial irrigated 

western zone Sub humid southern plain

Humid south eastern 

plain

55

For measuring energy status of soils water, tensiometer works well within 

narrow moisture range upto :- 0.8 bars 1.2 bars 1.5 bars 1.8 bars

56

Which of the following dams related to river Chambal is not situated in 

the state of Rajasthan ? Gandhi Sagar Rana Pratap Sagar Kota barrage Jawahar Sagar

57

The moisture retention curve obtained by gradual wetting of an initially 

dry soil is termed as :- Cohesion Adhesion Desorption Sorption

58

Rajasthan appears in how many numbers of agroclimatic zones of India, 

as defined by Planning Commission :- 5 4 3 2

59

Find out the maize equivalant yield of maize + green gram intercropping 

system with the given information :-

 (1) Maize yield 30q/ha (2) Green gram yield 4q/ha (3) Cost of maize Rs. 44 q/ha 40 q/ha 36 q/ha 32 q/ha

60

The parabolic response curve to describe plant population and yield 

relationship has been expressed as :- y = Ap + 1/(1+Abp) y = a + bp + cp² y = a + bp + c√p 1/w = a + bp + cp²

61 The correct label colour for foundation seed tag is :- Golden yellow White Blue Opal green
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62

Which one is not an important use of covariance analysis in agricultural 

research ?

To control experimental error and 

to adjust treatment means To estimate missing data

To aid in interpretation of 

experimental result

To compute relative 

range of parameters

63 The probe unit of neutron moisture meter consist a mixture of :- Americium & beryllium Barium & americium Helium & beryllium Radium & barium

64 The highest clouds are :- Cirrus Stratus Cumulus Cumulo-nimbus

65 1 ha-cm water equals to :- 1000 liter 10,000 liter 1,00,000 liter 10,00,000 liter

66 Water potential of atmosphere in a humid weather is about :- -100 MPa -10 MPa -1 MPa -0.1 MPa

67 National Institute of Abiotic Stress Management is situated at :- Baramati Gorakhpur Gurudaspur Karnal

68 Censor mechanism of seed dispersal is found in :- Celosia argentea Chloris virgata Crotolaria burhia Calotropis procera

69

Which ingradient of safflower oil makes it most suitable for heart patients 

? Oxalic acid Erucic acid Linoleic acid Mafenic acid

70 The concept of multiple cropping index was proposed by :- Dalrymple Chuang Easton Donald

71 Which among the following is a multicut variety of sorghum ? SSG 59-3 Pratap Chari Rajasthan chari -1 Rajasthan chari -2

72 The grass species which is predominantly found in western Rajasthan is :- Napier grass Panicum pedicillatum Lasiurus sindicus Cynodon dactylon

73 Who developed the "System of Rice Intensification" ? Father Henri de Laulanie Dr. Norman Uphoff Father Charles Dr. Ten Berge

74 In Plants the majot use of 'Abscisic acid' is :- Lodging preventer Dormancy breaker Plant cell growth regulator Defoliant

75 The weed which is commonly known as field bind weed is ? Sorghum halpense Convolvulus arvensis Echnichloa colona Digitaria sanguinalis

76 The bubble system of irrigation is preferably suitable for Closely planted vegetables Closely planted cereals Widely spaced fruit crop Big lawns

77 Durum wheat variety recommended for irrigated conditions :- Raj 1555 Raj 3077 Raj 4037 Raj 4083

78 Lycine and tryphtophane rich variety of maize is :- HQPM - 1 Ganga - 1 Navjot HQPM - 10

79 Farm implement that is not considered as primary tillage implement :- Indigenous Plough Mouldboard Plough Chisel plough Blade Harrow

80

Which among the following is the major constituent of atmospheric 

brown clouds ? Dust Flyash Nitrates Sulphate

81 Which of the following crops has higher water use efficiency ? Rice Potato Wheat Maize

82 Which among the following is an organic fertilizer ? Calcium cyanamide Ammonium chloride Calcium ammonium nitrate Ammonium sulphate

83 How many days it generally takes to convert urea into nitrate form ? About 3 days About 7 days About 15 days About 20 days

84 In the process of nitrogen mineralization, the first step is called :- Aminization Nitrification Ammonification Immobilization

85 Which among the following herbicides is known as soybean herbicide ? Quizalofop - ethyl Pendimethalin Alachlor Metribuzin

86

What will be the selectivity index of atrazine on maize, if the plants can 

tolerate it upto 6 kg/ha and the minimum dose to kill weeds is 1 kg/ha ? 3.5 6.0 8.0 9.0

87 Land capability class VIII in maps is represented by the colour :- Green Brown Purple Red

88

Traditional method of cultivating the land when pond water receds in arid 

region is :- Farm pond Taungya cultivation Khadin cultivation Tanka cultivation

89

Krishnan and Mukhtar singh (1968) classified climate on the basis of 

moisture deficit index (MDI) into :- 4 classes 6 classes 8 classes 10 classes

90

What will be the cropping intensity of a farm if a farmer is growing three 

crops in a year on a piece of land ? 100% 200% 300% 400%

91

What will be the harvest index (%) if maize grain yield is 60 q/ha and 

stover yield is 140 q/ha ? 20 30 40 50

92

What will be the plant population per hectare if cotton is sown at a 

spacing of 100 cm X 50 cm ? 15000 20000 40000 50000

www.upscstudymaterials.com

www.upscstudymaterials.com

www.upscstudymaterials.com



93 Select the correct pair with respect to crop and insect :- Mustard - grass hopper Sugarcane - top borer Cotton - pink borer Maize - shoot fly

94 Recommended nitrogen dose for frenchbean ranges between :- 50-60 kg/ha 60-70 kg/ha 80-90 kg/ha 110-120 kg/ha

95 Kharif pulse crop, sometimes also called as vegetable meat is :- Blackgram Greengram Pigeonpea Cowpea

96 Castor belongs to the family :- Solanaceae Convolvulaceae Euphorbiaceae Chenopodiaceae

97 In which experimental design, there are three experimental errors ? Randomized Block Design Split Plot Design Strip Plot Design Latin Square Design

98

In a latin square design, if there are six treatments then what will be the 

number of replications in the experiment ? 5 6 7 8

99 Per cent sulphur content in ordinary super phosphate is :- 12 21 09 15

100 In which crop auricles are completely absent ? Wheat Barley Triticale Oats

S. No. Question Option 1 Option 2 Option 3 Option 4

1 फȰ ऱȯररस माइनर  कȯ  1000 दानं का वजन (राम मं) ्या हȪता हȰ ? 4 6 2 8

2 चना की कȫनसी कक्म कȯ  पकȯ  हुए दानं का हरा रȲग हȪता हȰ ? अप्ाा अǽ्ा अपा् आभार

3 जȫ की उ्च गु्वता युत मा्ट कक्म हȰ :- RD 2849 RD 2508 RD 2502 RD 2503

4 सससȯमम इ्डडकम मं गु्सूर सȲ्या हȪती हȰ :- 32 64 26 42

5 मǾ बहार कक्म हȰ :- उड़द अरहर मूȱग मȪठ

6 फसऱं कȯ  ववकास कȯ  सऱए सवाासिक उपयुत रकाश हȰ :- ऱाऱ अवरत नीऱा हरा

7 सȪड - ससकडȲग का ्या अ्ा हȰ ? डयूनतम - भूपरर्कर् मदृा सȲहनन मदृा आऱȪडन शूडय - भूपरर्कर्

8 कȫनसी सशशु म्का की कक्म नहीȲ हȰ ? गȪ्डन सȲगम शवत पी ए सी - 792

9

सूखा की दशा मं कȫनसी फसऱ काबान  डॉआ्साइड (CO2) कȪ काबासनक 

अ्ऱ कȯ  Ǿप मं बदऱनȯ की ऺमता रखती हȰ ? सȪयाबीन चना मूȱग उड़द

10 कȯ ््वन चर ____ मं हȪता हȰ I सूडान घास बाजरा म्डुआ चȲवऱा

11 सन्न मं सȯ कȫनसा उसकȯ  काया मं सभडन हȰ ? हाइरȯटȯड ऱाइम चाक साइकȪसȯऱ कȯ यȪऱीन

12 सन्न मं सȯ ककस पȫिȯ मं डयूनतम वा्पȪ्सजान अनुपात हȪता हȰ ? म्का ्वार गडना अनानास

13 सन्न मं सȯ कȫनसा त्व एȲजाइम कȪ करयाशीऱ बनानȯ वाऱा नहीȲ हȰ ? कȰ ््सयम मȯ्नȯसशयम ऱȪहा ज्ता

14 चाय की पीऱी बीमारी ककस त्व की कमी कȯ  कार् हȪती हȰ ? गȲिक नरजन कȰ ््सयम बॉरȪन

15

बाजरȯ कȯ  रमा््त बीज उ्पादन कȯ  सऱए र््कर् दरुी ककतनी हȪती हȰ 
? 400 मीटर 200 मीटर 800 मीटर 100 मीटर

16

असत सामाडय पȫिा हॉमंन इडडȪऱ 3-एसȯकटक अ्ऱ (IAA) ककसमं सȯ 
र्म बार पृ् क ककया गया I मानव मूर एववना कȪसऱयȪ्टाइऱ ्यूजȯररयम फफूȲ द म्का अȲकुररत तȯऱ

17 सन्न मं सȯ कȫनसा शाकनाशी रकाश सȲलȯष् सनरȪिी हȰ ? 2,4 - D रȪपȯसनऱ आइसȪरȪ्युरंन ्ऱाइफ़Ȫसȯट

18

भाकड़ा नाȲगऱ बाȱि सȯ राज््ान का कȫनसा ्जऱा मु्य Ǿप सȯ ससȲसचत 
हȪता हȰ ? बीकानȯर हनुमानगढ़ चǾु गȲगानगर

19 राज््ान कȯ  कȫनसȯ ्जऱȯ मं सवाासिक नऱ कूप ससȲसचत ȯऺर हȰ ? अऱवर भरतपुर जयपुर जȪिपुर

20 शाकनाशी की कȫनसी करया ववसि अडय सȯ सभडन हȰ ? कहऱ असभकरया रȪटीन सȲलȯष् का दमन इऱȯ्रान ््ानाडतर्
काबान डाईऑ्साइड 
्््रीकर्

21

कȫनसी फसऱ की जड़ं कȯ  वारा मदृा मं एऱीऱȪपȯस्क रसायन का राव 
हȪता हȰ ? सूरजमुखी ्वार चना म्का
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22 सन्न मं सȯ कȫनसा यु्म सुमȯसऱत नहीȲ हȰ ?

मȰ्नȯसशयम - पुरानी पवतयं मं हरी 
नसं ऱȪहा - नई पवतयं मं हरी नसं

ताȲबा - नई पवतयं मं पीऱी 
नसं

मं्नीज - पुरानी पवतयं 
मं पीऱी नसं

23 सन्न मं सȯ कȫनसा यु्म सुमȯसऱत हȰ ?

गȲगा का ऊपरी मȰदानी ȯऺर - 

बीकानȯर
म्यवती पठार एवȲ पहाड़ी ȯऺर - 

चǾु
गȲगापार मȰदानी ȯऺर - री 
गȲगानगर

द्ऺ्ी पठार एवȲ पहाड़ी 
ȯऺर - अऱवर

24

नाइरीकर् का मदृा पी एच पर ्या रभाव पड़ता हȰ :-  

(1) बढ़ता हȰ 
(2) घटता हȰ कूट 1,2 व 3 कूट 1 व 3 कूट कȯ वऱ 2 कूट 1 व 2

25

मदृा मं ववनाइरीकर् सȯ सȲबध सन्न मं सȯ कȫन सा जीव परपȪवषत नहीȲ 
हȰ ? सुडȪमȪनास बȯससऱस एरȪमȪबȯ्टर ्ायȪबȯससऱस

26 एजȪराइजȪवबयम ककस कȯ  तनȯ पर रȲस्याȱ बनाता हȰ ? सससबȯसनया रȪसराटा सससबȯसनया रȯडडी्ऱȪरा सससबȯसनया ए्यूसऱआटा सससबȯसनया ्वाराटा

27

एक ्व्् पȫिȯ की पवतयं मं नरजन की अपȯऺा ऱगभग ____ गडिक 

उप्््त हȪता हȰ :- दसवाȱ भाग पाȱचवा भाग आिा भाग बीसवाȱ भाग

28 ऺारीय मदृा मं फ़ॉ्फ़Ȫरस इस Ǿप मं रिानता सȯ हȪता हȰ :- कȯ ््शयम फ़ॉ्फȯ ट आयरन फ़ॉ्फȯ ट ए्युसमसनयम फ़ॉ्फȯ ट नाइरȪ फ़ॉ्फȯ ट

29 यूररया का ऱव् सुचकाȲक हȰ :- 1.61 रसत इकाई नरजन 2.99 रसत इकाई नरजन 3.25 रसत इकाई नरजन 6.00 रसत इकाई नरजन

30

सन्न मं सȯ कȫनसा उपरह पृ् वी की भूम्यवती कऺा मं परररमा करनȯ 
का उदाहर् हȰ ? सरऱ ररसȯट - 1 क्पना - 1 आईआरएस - 1 ए

31 ृ्य-ववककर् की तरȲग दȯिया सीमा हȰ :- 0.15 सȯ 4.0 µ 4.0 सȯ 6.5 µ 6.5 सȯ 9.5 µ 9.5 सȯ 14.5 µ

32

मानक ववचऱन व मा्य कȯ  अनुपात कȪ रसतशत मं र्तुत करनȯ कȪ 
कहतȯ हȰ :- मानक रटुी रा्डतक अडतर ववचर् गु्ाȲक मा्य ववचऱन

33

सन्न मं सȯ कȫनसा सȫर ववककर् कȯ  सडदभा मं अडतȯरारीय इकाई 
र्ाऱी व सȯडटीमीटर-राम-सȯक्ड इकाई र्ाऱी का यु्म हȰ ?

697.93 वाट/मी² = 1 

कȯ ऱȪरी/सȯमी²/समनट
797.93 वाट/मी² = 1 

कȯ ऱȪरी/सȯमी²/समनट
897.93 वाट/मी² = 1 

कȯ ऱȪरी/सȯमी²/समनट
997.93 वाट/मी² = 1 

कȯ ऱȪरी/सȯमी²/समनट

34

सटीक कृवष का ववलȯषक अवयव जȪ आȱकड़Ȫ का भ्डार्, बहाऱी त्ा 
््ासनक आȱकड़Ȫ मं Ǿपाडतररत करता हȰ, वह हȰ :- ववव सूचना तȲर (जी आई एस) ववव ्््सत तȲर (जी पी एस)

सन्ाय आिार तȲर (डी एस 
एस)

पररवती दर तकनीक (वव 
आर टी)

35 ववककर् का वह भाग जȪ पȫिȯ वसन हȯत ुकाम मं ऱȯतȯ हȰ - कहऱाता हȰ :- चायी - उपचायी उजाा गुत उजाा सȲवȯघ उजाा मदृा उजाा असभवाह

36

्वतȲर जऱ वा्पीकर् वारा स्भाववत वा्पन - वा्पȪ्सजान अनुमान 
हȯत ुरयुत सूर PET = KET0 इडहȪनȯ कदया ्ा :- पȯनमȯन (1948) ्ऱȯनी करडऱ (1950) जȯनसन व हȯज (1936) ्Ȫना् वȯट (1948)

37 म्यम ससचाई पररयȪजना मं कृवषयȪ्य  कमान ȯऺर हȪता हȰ :- 2000-10,000 हȯ्टर 10,000-15,000 हȯ्टर 15,000-20,000 हȯ्टर 20,000-25,000 हȯ्टर

38

यकद एक हȯ्टर ȯऺर कȪ 6 घȲटȪ कȯ  सऱए 25 ऱीटर रसत सȯक्ड कȯ  औसत 
रवाह सȯ ससȲसचत ककया जाना हȰ तȪ ससȲचाई की गहराई ऻात की्जए I 5.4 सȯमी 6.2 सȯमी 6.8 सȯमी 7.2 सȯमी

39

रȪत सȯ ससȲचाई हȯत ुरयȪग करनȯ कȯ  वबȲद ुकȯ  म्य हȪनȯ वाऱी जऱ की 
हासन का यȪतक हȰ :- जऱ अनुरयȪग दऺता जऱ ववतर् दऺता जऱ भ्डार् दऺता जऱ पररवहन दऺता

40 कवक - शाकनाशी 'डीवाइन' मं ककस कवक कȯ  जीवा्ु हȪतȯ हȰ ? कȪसऱकȪराइकम ्ऱȪइ्पȪररओकडस फाइटȪप्Ȫरा पा्मीवȪरा
्रȯ्टȪमाइससस 

हाइरȪ्कȪवपकस बाइपȪऱȯररस सȪरसगकȪऱा

41 ऑ्सी्ऱुरफȯ न ककस शाकनाशी कुऱ का सद्य हȰ ? ईसमजȪसऱनȪडस ््ापडन एरȪमȯकटक अ्ऱ ््ापडन युररयाज डाइकफनाइऱ इ्रसा

42

इनमं सȯ कȫन-सा शाकनाशी पȫिं मं हाइरȪजन परऑ्साइड उ्पादन 
करता हȰ ? पȯरा्वȯट मȯटस्फूरॉन ्ऱाइफ़Ȫसȯट ईमȯ्ज्ापायर

43

एक खरपतवार जȪ फसऱ पारर्््की का असभवा्य अȲग बन जाता हȰ - 

उसȯ कहतȯ हȰ :- ववक्पी खरपतवार बा्य खरपतवार उपरही खरपतवार परदȯसी खरपतवार

44 ओरȪबȯडकी  की कȫनसी उपजासत मं शा्खत तना हȪता हȰ ? ओ. रामȪसा ओ. ए्ज््टका ओ. करनटा ओ.  माइनर

45 तारामीरा की शुध फसऱ कȯ  सऱए बीज दर (ककरा/हȯ्टर) ऱगभग हȪती हȰ :- 2 5 8 10

46 गȯहूȱ कȯ  बीज कȯ  अȲकुर् हȯत ुअनुकूऱतम तापमान ऱगभग हȪता हȰ :- 12-16° C 20-22° C 25-28° C 10-12° C

47 ्जया मȯज इड्युराटा हȰ :- ््ऱडट म्का डȯडट म्का ्वीट म्का पȪप कȪना

48 कपास की फसऱ कȯ  सडदभा मं, 'ग्नाȱक'  हȰ :-

761 मी. कȯ  कुककडयं की सȲ्या 
्जसका र्यȯक का भार 0.453 

ककरा हȪ

840 मी. कȯ  कुककडयं की सȲ्या 
्जसका र्यȯक का भार 1.00 

ककरा हȪ

900 मी. कȯ  कुककडयं की 
सȲ्या ्जसका र्यȯक का 
भार 0.50 ककरा हȪ

1000 मी. कȯ  कुककडयं की 
सȲ्या ्जसका र्यȯक 

का भार 1.2 ककरा हȪ

49 गडनȯ की सन्न कक्मं मं सȯ कȫन सी पȯडी ऱȯनȯ हȯत ुउपयुत नहीȲ हȰ :- कȪ-997 कȪ-1007 कȪ-8145 कȪ-419

50 कȪदȪ समऱȯट हȰ :- सटȯररया इटासऱका पȯनीकम समसऱएससअम पȯ्पȯऱम ्रȪबाइकुऱȯटम
इकाइनȪ्ऱȪआ 

रǾमȯडटȯसीया

51 सन्न मं सȯ मूȲगफऱी की कȫन सी कक्म वव्तारी ववृध रवसृत की हȰ ? जȯ.एऱ. - 24 रताप मूȲगफऱी - 1 जी.जी. - 2 एम - 13
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52

यकद ववलȯष् सȯ ऻात हुआ की सȲततृ सन्कषा मं Ca⁺² , Mg⁺² त्ा Na⁺¹ 

का समऱी तु्याȱक रसत ऱीटर रमशȬ 20,10 त्ा 100  ्ा, तȪ मदृा का 
सȪकडयम असिशȪष् अनुपात ऻात की्जए I 34.8 31.8 28.8 25.8

53

उपऱ्ि जऱ व वा्पीकर् कȯ  असȲतुऱन कȯ  परर्ाम ्वǽप उपजȯ मदृा 
आरता तनाव कȪ कहतȯ हȰ ? कृवष सूखा मȫसमी सूखा वायुमȲडऱीय सूखा जऱत्व सूखा

54

भȫगȪसऱक ृवि सȯ राज््ान का कȫन-सा स्य जऱवायु ख्ड सब सȯ 
बड़ा हȰ ? शु्क मȰदानी प्िम ȯऺर

असत शु्क आȲसशक ससȲसचत 
प्िमी ख्ड अधा आरा द्ऺ्ी मȰदानी ȯऺर

आरा द्ऺ्ी पूवी मȰदानी 
ȯऺर

55

मदृा जऱ की उजाा अव््ा मापन हȯत ुरयुत तनावमापी, सीसमत नमी 
रȯ् ी मं ककतनी सीमा तक कुशऱतापूवाक काया करता हȰ ? 0.8 बार 1.2 बार 1.5 बार 1.8 बार

56

च्बऱ नदी कȯ  स्बडि मं सन्न मं सȯ कȫन-सा बाȱि राज््ान मं नहीȲ 
हȰ :- गाȱिी सागर रा्ा रताप सागर कȪटा बȯराज जवाहर सागर

57

आर््भक अव््ा मं शु्क मदृा कȯ  उतरȪतर गीऱा करनȯ पर रात नमी 
अवरȪिन वर कȪ कहतȯ हȰ :- ससȲजन आसȲजन सन:रव् असिशȪष्

58

यȪजना आयȪग वारा पररभावषत भारत कȯ  स्य जऱवायु ख्डȪ मं सȯ 
राज््ान ककतनȯ ख्डȪ मं कदखाई पड़ता हȰ :- 5 4 3 2

59

सन्न सूचना सȯ म्का + मूȱग अȲतर फसऱ तȲर मं म्का समतु्य उपज 

ऻात की्जए :-

 (1) म्का उपज 30 ््वȲटऱ/हȯ.   (2) मूȱग उपज 4 ््वȲटऱ/हȯ.   (3) म्का की 
कीमत Ǿ. 2000/््वȲटऱ  (4) मूȱग की कीमत Ǿ. 3000/््वȲटऱ 44 ््वȲटऱ/हȯ. 40 ््वȲटऱ/हȯ. 36 ््वȲटऱ/हȯ. 32 ््वȲटऱ/हȯ.

60

पȫि सȲ्या व उपज स्बडि कȪ व््ात करनȯ हȯत ुपरवयसऱक अनुकरया 
वर इस रकार रगट ककया जाता हȰ :- y = Ap + 1/(1+Abp) y = a + bp + cp² y = a + bp + c√p 1/w = a + bp + cp²

61 आिार बीज ्Ȱऱी कȯ  टȰग का सही सूचक - पर रȲग हȰ :- सुनहरा पीऱा सफ़ȯ द नीऱा दसूिया हरा

62 इनमं सȯ कȫन-सा कृवष शȪि मं सहरसर् का रमुख उपयȪग नहीȲ हȰ ?

रयȪग रटुी का सनयȲर् त्ा 
उपचार मा्य का समायȪजन अरात आȲकड़ȯ का आȱकऱन

रयȪग परर्ामं कȯ  सनवााचन 
मं सहायता करना

राचऱ की पर्पर 
पररसर का पररकऱन 
करना

63 डयूरȪन मȪइिर मीटर की छड इकाई मं समर् हȪता हȰ :- अमȯररससयम एवȲ बȯरीसऱयम का बȯररयम एवȲ अमȯररससयम का हीसऱयम एवȲ बȯरीसऱयम का रȯकडयम एवȲ बȯररयम का

64 उ्चतम बादऱ हȪतȯ हȰ :- पऺाभ मȯघ ्तरी मȯघ कपासी मȯघ कपासी-वषाा मȯघ

65 एक हȯ्टȯयर-सȯ.मी. पानी कȯ  बराबर हȪता हȰ :- 1000 ऱीटर 10,000 ऱीटर 1,00,000 ऱीटर 10,00,000 ऱीटर

66 आरा मȫसम मं वातावर् का जऱववभव ऱगभग हȪता हȰ :- -100 मȯगापा्कऱ -10 मȯगापा्कऱ -1 मȯगापा्कऱ -0.1 मȯगापा्कऱ

67 रारीय अजȰववक रसतबऱ रबȲिन सȲ््ान ्््त हȰ :- बारामती गȪरखपुर गुǽदासपुर करनाऱ

68 बीज रकी्ान की 'सȯडसर' ववसि पायी जाती हȰ :- सȯऱȪससया अरजȯ्डसया ्ऱȪररस ववरगाटा रȪटȪऱȯररया बुरकहआ कȯ ऱȪरȪवपस रȪसȯरा

69

कुसुम कȯ  तȯऱ का कȫनसा घटक इसȯ ǿदय रȪसगयं हȯत ुअसत उपयुत 

बनाता हȰ ? आ्जȯसऱक अ्ऱ इǾससक अ्ऱ सऱनȪसऱक अ्ऱ मȯफȯ सनक अ्ऱ

70 बहुफसऱी सूचकाȲक अविार्ा कȪ रसतपाकदत ककया ्ा :- डȯऱरी्पऱ चयुाȲग ई्टन डȪना्ड

71 सन्न मं सȯ ्वार की बहु कटाई वाऱी कक्म कȫनसी हȰ ? एस.एस.जी. 59-3 रताप चरी राज््ान चरी - 1 राज््ान चरी - 2

72 घास की वह रजासत जȪ प्िमी राज््ान मं रमुखता सȯ पायी जाती हȰ :- हा्ी घास पȯसनकम पȯकडससऱȯटम ऱȯसुरस ससȲकडकस साइनȪडȪन डȯ्टाइऱȪन

73 "िान सघनता पधसत" का ववकास ककसनȯ ककया ? फादर हȯनरी डȯ ऱȫऱȯनी डा. नȪमान अपहȪफ फादर चा्सा डा. तȯन बगा

74 पȫिं मं 'एब््सक अ्ऱ' का रमुख रयȪग हȪता हȰ :- सगरनȯ सȯ बचाना रसुसत भȲजक
पȫिं मं कȪसशका ववृध 
सनयामक ववपरक हȯतु

75

कȫनसा खरपतवार सामाडयतया खȯत बा्य खरपतवार कȯ  Ǿप मं जाना 
जाता हȰ ? सȪरगम हȯऱपȯडस कȪनवऱवुऱस आरवȯनससस ईककनȪ्ऱȪआ कȪऱȪना कडजीटȯररया संव्युनȯसऱस

76 ससȲचाई की बबऱ पधसत रा्समकता कȯ  तȫर पर अनुकूऱ हȪती हȰ :- सनकट सȯ बȪई गई स््जयाȲ सनकट सȯ बȪई गई िाडय फसऱं दरूी सȯ बȪयȯ गए फऱ वृऺ बड़ȯ मȰदान (ऱान)

77 ससȲसचत ȯऺरं हȯत ुकाकठयाȱ गȯहूȱ की उपयुत कक्म हȰ :- राज 1555 राज 3077 राज 4037 राज 4083

78 म्का की ऱाइससन एवȲ कर्टȪफȯ न स्पडन कक्म हȰ I HQPM - 1 गȲगा - 1 नवजȪत HQPM - 10

79

र ȯऺर उपकर् ्जसȯ रार््भक भ-ूपरर्कर् उपकर् नहीȲ माना जाता हȰ 
:- दȯशी हऱ मȪ्डबȪडा हऱ छȯनी हऱ ब्खर

80 सन्नाȲककत मं सȯ वायुमȲडसऱक व भूरा मȯघ का मु्य सȲघटक कȫनसा हȰ ? िऱू रिर भ्म नाइरȯ्स स्फȯ ट
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81 सन्नाȲककत फसऱं मं सȯ ककस फसऱ की जऱ माȲग दऺता उ्चतर हȰ ? चावऱ आऱू गȯहूȱ म्का

82 सन्नाȲककत मं सȯ कȫनसा एक काबासनक उवारक हȰ ? कȯ ््सयम साइनामाइड अमȪसनयम ्ऱȪराइड कȯ ््सयम अमȪसनयम नाइरȯट अमȪसनयम स्फȯ ट

83

यूररया कȪ नाइरȯट मं पररवसतात हȪनȯ मं सािार्तया ककतनȯ कदन ऱगतȯ 
हȰ ? ऱगभग 3 कदन ऱगभग 7 कदन ऱगभग 15 कदन ऱगभग 20 कदन

84 नरजन खसनजीकर् रकरया मं र्म चर् हȰ ? एमीनीकर् नाइरीकर् अमȪसनकर् ्््रीकर्

85

सन्नाȲककत शाकनासशयं मं सȯ कȫनसा सȪयाबीन शाकनाशी कȯ  नाम सȯ 
जाना जाता हȰ ? ्युजाऱȪफȪप इ्ाइऱ पȯडडीसम ȯ्ऱीन एऱा्ऱȪर मȯकरबु्जन

86

म्का मं एराजीन की व्ाा् मकता सूचकाȲक ्या हȪगी, यकद इसकȪ पȫिȯ 
6 कक.रा./हȯ. तक सहन कर सकतȯ हȰ और खरपतवारȪ कȪ मारनȯ हȯत ुइसकी 
डयूनतम मारा 1 कक.रा./हȯ. हȰ ? 3.5 6.0 8.0 9.0

87 भू साम्या वगा VIII कȪ न्शȯ मं रȲग वारा र्तुत ककया जाता हȰ :- हरा भूरा बंगनी ऱाऱ

88

शु्क ȯऺरं मं ताऱाब कȯ  पȯटȯ मं जब पानी हट जाता हȰ, पार्पाररक खȯती 
कȯ  तरीकȯ  कȪ कहतȯ हȰ :- खȯत ताऱाब टं्या खȯती खकडन खȯती टाȲका खȯती

89

कृ््न एवȲ मुखतार ससȲह (1968) नȯ नमी अभाव सूचकाȲक (एम.डी.आई.) कȯ  
आिार पर जऱवायु कȪ वगं मं वगीकृत ककया हȰ :- 4 वगं मं 6 वगं मं 8 वगं मं 10 वगं मं

90

यकद एक ककसान जमीन कȯ  एक भाग पर एक वषा मं तीन फसऱं उगाता 
हȰ तȪ उस खȯत की फसऱ सघनता ककतनी हȪगी ? 100% 200% 300% 400%

91

म्का कȯ  दानȯ की उपज 60 ््वȲटऱ/हȯ. त्ा कड़बी की उपज 140  

््वȲटऱ/हȯ. हȰ, तȪ %  कटाई सूचकाȲक ककतना हȪगा ? 20 30 40 50

92

यकद कपास की बुवाई 100 सȯ.मी. X 50 सȯ.मी. की दरी पर की गई हȪ तȪ 
रसत हȯ्टर पȫिं की ककतनी सȲ्या हȪगी ? 15000 20000 40000 50000

93 फसऱ और कीट कȯ  सऱहाज सȯ सही जȪड़ȯ का चयन करȯ :- राया - फड़का गडना - शीषा छȯदक कपास - गुऱाबी छȯदक म्का - तना म्खी

94 राजमा कȯ  सऱए सȲतुत नरजन की मारा का परास हȰ ? 50-60 कक.रा./हȯ. 60-70 कक.रा./हȯ. 80-90 कक.रा./हȯ. 110-120 कक.रा./हȯ.

95 खरीफ की दऱहनी फसऱ ्जसȯ कभी कभी शाकीय माȲस भी कहतȯ हȰ :- उड़द मूȲग अरहर चȲवऱा (ऱȪवबया)

96 अर्डी कुऱ सȯ स्बडि रखती हȰ :- सȪऱȯनȯसी कȪडवȪ्वूऱȯसी यूफ़Ȫरवबएसी सचनȪपȪकडएसी

97 ककस रायȪसगक असभक्पना मं तीन रायȪसगक रकुटयाȱ हȪती हȰ ? याृ््छकीकृत ख्ड असभक्पना ववभत भूख्ड असभक्पना प्टीदार भूख्ड असभक्पना ऱȯटीन वगा असभक्पना

98

यकद एक ऱȯटीन वगा असभक्पना मं छ: उपचार हȰ तȪ उस रयȪग मं 
ककतनी रसतकृसतयाȱ हȪगी ? 5 6 7 8

99 सािार् सुपर फॉ्फȯ ट मं स्फर का रसतशत अȲश हȰ :- 12 21 09 15

100 ककस फसऱ मं बकह:क्ा पू्ातया अनुप्््त हȪतȯ हȰ ? गȯहूȱ जȫ करटीकȯ ऱ जई
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QUS. ANS QUS. ANS

1 3 51 4

2 1 52 4

3 1 53 1

4 3 54 2

5 4 55 1

6 1 56 1

7 4 57 4

8 2 58 2

9 1 59 3

10 4 60 2

11 3 61 2

12 4 62 4

13 3 63 1

14 1 64 1

15 2 65 3

16 1 66 2

17 3 67 1

18 2 68 1

19 1 69 3

20 2 70 1

21 1 71 1

22 4 72 3

23 3 73 1

24 3 74 4

25 4 75 2

26 1 76 3

27 1 77 1

28 1 78 1

29 1 79 4

30 3 80 4

31 1 81 2

32 3 82 1

33 1 83 2

34 1 84 1

35 1 85 4

36 1 86 2

37 1 87 3

38 1 88 3

39 4 89 3

40 2 90 3

41 4 91 2

42 1 92 2

43 3 93 2

44 1 94 4

45 2 95 4

46 2 96 3

47 1 97 3

48 1 98 2

49 4 99 1

50 3 100 4

* MEANS DELETED
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